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TRUE OR FALSE: (20 pts)
_____
A population ability to grow by reproduction depends on its sex ratio and age distribution.

_____
If a population size is declining it is said to be in its death phase.

_____
Environmental resistance is composed of factors that tend to “reduce population growth rates”.

_____
Arithmetic growth refers to any pattern of increase of the size of a plant or animal population.

_____
The maximum rate at which an organism can reproduce is called its biological potential.

_____
Explosive growth better characterizes logistic growth (S-curve) than exponential growth (J-curve).

_____
Knowing the proportion of a population in the pre-reproductive ages is a useful tool in predicting future populations trends.

_____
An abiotic factor is something caused, produced, or otherwise associated with living organisms.

_____
World population growth affects nearly all environmental problems.
_____
Historical experience shows that when the educational level of women increases, the fertility rate in the population falls.

_____
In the United States, approximately one-third of the population increase experienced each year is the result of immigration, not reproduction.

_____
A person eating at the carnivore trophic level has 10 times the ecological impact as does a person eating at the producer trophic level (a vegetarian diet).
_____
Current trends, coupled with new information technology innovations, indicate that the difference in the standards of living between the rich and poor countries of the world will decrease over the next 25 years.
_____
Human population growth is partly a biological phenomenon.
_____
Governments of many European countries think their birth rates are too high.

_____
Demography is the study of animal populations and the factors that affect them.

_____
A total fertility rate of 2.1 is the replacement fertility at which population growth will increase.

_____
Birthrate is termed “natality”.
_____
Availability of raw materials may affect the future of human population growth.

_____
Social factors do not influence human population growth.
MULTIPLE CHOICE:  (30pts)
1. Birthrate is the 
a) Number of individuals born minus the number of deaths per year per 1000 individuals
b) Number of individuals born per 1000 women per year
c) Number of individuals born per 1000 individuals per year
d) None of the above

2. An age distribution figure for a country with rapidly increasing population, like that of Kenya, will have its population clustered in which stage?

a) Prereproductive

b) Postreproductive

c) Lag phase

d) Reproductive

e) None of the above

3. As a scientist, you determine that the death rate of the species you are studying has greatly increased and that the number of your subject species has not increased significantly for some time. What part of the growth curve have you reached? 

a) Lag phase

b) Limit to the biotic potential

c) Stable equilibrium phase

d) Exponential growth phase

e) None of the above

4. Which of the following does not determine the carrying capacity of a particular geographic area?  

a) Availability of raw materials

b) Availability of energy

c) Interactions among organisms

d) Accumulation of waste products

e) All of the above help determine the carrying capacity

5. The current world-wide rate of annual increase in the human population (1.3 percent) will double the world’s population in approximately?  

a) 10 years

b) 25 years

c) 50 years

d) 100 years

e) 500 years

6. Irruptive growth patterns in populations are characterized by

a) overshooting the environment’s carrying capacity for the species

b) rapid declines in population size

c) population increase repeatedly running into limits imposed by finite spaces

d) all of the above

7. Earth’s carrying capacity for humans depends on our

a) eating patterns

b) range and magnitude of material consumption

c) recreational space needs

d) patterns of each of the above

8. A population’s age structure refers to its

a) life span

b) life expectancy

c) relative number of individuals at various ages

9. Environmental resistance is composed of 

a) density-dependent factors

b) density-independent factors

c) both density-dependent and independent factors

d) neither density-dependent nor independent factors

10. In the context of population growth regulation, intrinsic factors are those that

a) operate within or between organisms

b) lower reproductive success by a variety of means

c) are imposed on the population from outside

d) increase reproductive success by a variety of means

11. A density-dependent factor is one

a) that always increases a species’ biotic potential

b) that always lowers a species’ biotic potential

c) whose effect is influenced by the degree of crowding in the population

d) whose effect is typically the result of extrinsic causes

12. Density-independent factors tend to be

a) more associated with abiotic factors

b) more associated with intrinsic factors

c) unable to lower reproductive gains in a population

d) more influential with natality rates than mortality rates

13. Examples of density-dependent factors would include

a) territorial behavior reducing the number of mating pairs

b) reduced fertility of mice kept in crowded conditions

c) competition among different individuals of the same species for a resource resulting in reduced average litter size

d) all of the above

14. World population growth contributes to which of the following problems?

a) Famine
b) Water and air pollution
c) Loss habitat for other organisms
d) Political unrest

e) All of the above

15. All of the following influence the size of the impact a particular country has on its own resources EXCEPT 

a) Population density

b) Technological development

c) Population size

d) Carrying capacity

e) All of the above are factors

16. In a less-developed country you would find all of the following except

a) High population density
b) Low percentage of female literacy
c) Low per capita GNP
d) High infant mortality
e) All of the above are characteristic of less-developed countries

17. All of the following are reasons  that women in less-developed countries desire larger families EXCEPT  

a) Children often contribute to the family income

b) There is no social security for old age

c) Sometimes women are prevented from working by law

d) Women get more education when they have children

e) All of the above are reasons

18. All of the following are reasons that less-developed countries may not follow the same demographic transition that the industrialized world went through  EXCEPT 

a) World population is higher now
b) Energy and natural resources are still abundant
c) Industrialization may not be able to go fast enough to keep up with population growth
d) There is more land that has been exploited now
e) All of the above are reasons

19. Human population pressure in poor areas like sub-Saharan Africa often result in

a) Increased environmental degradation as marginal land is brought into production

b) Decreased political unrest as multinational food producers take over production facilities

c) Increased self-sufficiency as aid agencies respond to urgent need

d) Decreased internal migrations as people lose energy to travel within the country

e) All of the above are typical of poor areas like sub-Saharan Africa

20. The rapid increase in human numbers after A.D. 1800 resulted from

a) Better sanitation
b) Better health care
c) Improved agricultural efficiencies

d) All of the above

21. Factors that have permitted an increase of the earth’s ability to support more humans than anticipated in the 1800 (a change in the carrying capacity) include 

a) Dramatic increases in agricultural productivity
b) Cheap fuel sources
c) Improved efficiency in extraction and use of natural resources
d) All of the above

22. Current world population is about

a) 7.1  million
b) 9.5 million

c)  7.1 billion
d) 9.5 billion

23. The greatest future growth in human numbers is expected to occur in the

a) Rich countries of Europe and North America
b) Rich Asian countries including Japan
c) Less Developed (developing) nations

24. The total fertility rate is the 

a) Total number of births in a given time period in a population

b) Average number of children born to a woman in a population during her reproductive life

c) Total number of births less the deaths in a given time period

d) Total number of children produced that survive to reproductive age per year

25. In general, countries with the highest fertility rates are those 

a) With the greatest untapped natural resources

b) Among the poorest on earth

c) With the highest life expectancies

d) With low infant mortality rates

26. The main cause of population growth in recent centuries has been

a) A drop in mortality rate

b) A drop in mortality rate and a sharp decrease in natality rate

c) A progressive increase in birth rate

d) A sharp increase in birth control use

27. Social and economic factors tending to increase the number of children couple plan to have include 

a) Wanting additional workers contributing to family income

b) The joys of parenthood

c) Wanting support when in old age

d) All of the above

28. Factors linked with reduction in the number of children couples plan to have include

a) Increased educational level of women

b) Desire to spend family income on things other than raising children

c) Increased earning levels of women

d) All of the above

29. The demographic transition is the shift in a population over time from having a

a) High birth rate and low death rate to low birth rate and high death rate

b) High birth rate and death rate to low birth and death rate

c) Low birth and death rate to high birth and death rate

d) Low birth and death rate to low birth and high death rate

30. By feeding plants to animals, and harvesting animal products, what percent of the energy in the original plant is lost?

a) 10

b) 50

c) 75

d) 90

e) 95
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